L-5/T-2/ARCH Date : 15/09/2018
BANGLADESH UNIVERSITY OF ENGINEERING AND TECHNOLOGY, DHAKA
L-5/T-2 B.Arch. Examinations 2016-2017

sub: HUM 311 (Maﬁagement)

Full Marks: 140 Time : 3 Hours
USE SEPARATE SCRIPTS FOR EACH SECTION

The figures in the margin indicate full marks.

SECTION - A
There are FOUR questions in this section. Answer any THREE.

Symbols have their usual meanings.

1. (a) Define Management. Explain the process of management with a diagram.

(b) “Management is both science and art”. Justify the statement.

(c) Identify and explain djfferent types of managerial roles and skills.

2. (a) Identify and briefly discuss different kinds of organizationél plans.
(b) Define contingency plan and differentiate a single use plan from a standing plan

with example. ' -

(c) Explain the major barriers to goal setting and planning?

3. (a) What are the factors on which optimum span of control depends?

(b) -Differentiate a mechanistic organization from an organic organization with
examples.
(c) Discuss different types of departmentalization like product, customer, process,

geographic and functional.

4. (a) What are the assumptions: of theory X and theory Y provided by Douglas
McGregor? -

(b) Explain the need hierarchy theory of motivation given by Maslow.

(c) Discuss the two factor model and equity theory of motivation.
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SECTION - B
There are FOUR questions in this section. Answer any THREE.

Symbols have their usual meanings.

5. (a) Differentiate personnel management from human resource management. 7
(b) Identify and explain major functions of human resource management. &)
(c) Discuss the output of human resource management. (7 %)
6.  (a) Discuss different approaches to corporate social responsibility (CSR). 8)
(b) What are the arguments for and against CSR? (8)
(c) Identify the major stakeholders of a business organization. How do they become
stakeholders? 7 % )
7. (a) Explain the formal goal setting process of an organization. (7 %)
(b) Show the differences between modular, virtual and networked organization. 8
(c) What are the major characteristics of a learning organization? (8)
8.  (a)Identify and discuss the steps in an ideal controlling process with a diagram. 8®)
(b) Differentiate bureaucratic control from decentralized control. 8

(¢) Discuss the major benefits of organizational control. 7 %)
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L-1/T-1 B.Arch. Examinations 2017-2018
Sub : ARCH 573 (Professional Practice)

Full Marks: 140 Time : 3 Hours
USE SEPARATE SCRIPTS FOR EACH SECTION

The figures in the margin indicate full marks.

SECTION — A
There are FOUR questions in this section. Answer Q. No.1 and any TWO from the rest.

1.  (a) Explain the standard alternative of the methods for evaluating Technical and

Financial proposals as per IAB rules.

(b) Describe the procedure of grading in Quality and Cost based selection with the help
of formulae.

(c) Mention the advantages and disadvantages of Two stage system of architectural

competition.

2. (a) Describe the essential elements incorporated in the following items of Public

Procurement Regulation 2008.
(i) Design contest of conceptual design (clause 111) indentifying the difference

set by PPR and IAB regulation.
(ii) Single source selection (clause 110).

(iii) Selection of individual consultant (clause 112).

3. Critically evaluate the restrictions and limitation imposed in the Building Construction

Act 2008 on:
(a) Conservation and preservation of heritage buildings and sites. Explain from your

observation how the authority is empowered to make harmful effects to enlisted
heritage edifices as per clause 61.

(b) Minimum parking requirements in relation to various occupancy types.

4,  (a) What are the highlighting features of Principles or professionalism in accordance

with UIA Accord?
(b) Explain after UIA Accord “the cultural expression of society’s habitat in terms of

Space, Form, and Historical concept”.
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SECTION-B
There are FOUR questions in this section. Answer Q. No.5 and any TWO from the rest.
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(a) Determine the total buildable area applicable under FAR, MGC and min nos of

floor above the ground for A2 type building of
(i) Site A considering the 18 m wide road
(i1) Site B considering the 12 m wide road.
(b) Calculate and compare the total buildable area when two sites are combined for E 1

type building considering 18 m and 12 m wide road.
(c) Which of the two sites in terms of space usability is more efficient keeping the

minimum set back and minimum no of floors?

6.  (a) What are the methods to be practiced for the selection of the Architect?
(b) Describe the checklist for the agreement between the architect and the client.

(c) Describe in detail the scope of works under the architectural design services.

7. (a) State the important factors to be considered while determining the type of building
contract.

(b) Write down the types of contract. Describe them briefly.

8.  Write short note on any two of thé following:
(a) Negligence
(b) Partnership
(c) Architect’s compensation.
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